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1. KE1+8EHbA 44 ERE Vp £ ¥ Vpp=5V and R=1kQ 5 % —#&84 # Vpo=0.65V & 1rp=20Q-
(10%)

. KB 2 ¥ tansfer function 7,(5)/7,(S) * /&% R=10KQ and C=0.1 uF » K st E % & -3dB
bandwidth - (10%)
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. %o @ 3 > {83 operational amplifier %K K% » K voltage gain A =V /v, - (15%)

L=+




AMFHAE 100 ZFEHA TP ANZBE XBEE

. i AT E | 2
% Fran) # B B R

(FAFEN)| B H

ERIEZAALE (THha) coal EES 1004224

4, —EREBEERAZHELERE AN B 4 FHESATLIAR ~ AR, ~ TR E 4, 232

R FRTIREFEL EEZLER
(1) R=0,R,=0,4,=w, 2) R=o,R,=0,4,=w, 3) R=n0,R =u,4,=x,
4) R=0,R =0,4 =0.- (10%)

5. ~ARABE KB40 B 5 FHAE (o) &% (Virtual short)? (b) E#:4e (Virtual ground)? (10 %)




PHFEAL 100 LEEFEAERAALEE KUK

: o~ EEEES | AR

% TR i -
(FAFHEN)| BH

TTriALE (Tha) TF2 =i 100424

6. —1{8 £ » % K % (Difference Amplifier)%0 B 6 > (@F EH V, fov, B v, 9 HE X > b) &
R =R, =R, =R & > FELEV, Fov BZv, 484K - (10%)
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7. 4o 7 {3k operational amplifier %2 284 K % and having zero initial voltage of capacitor > (i) K the
time domain expression of vV, intermsof vV ,R,and C - (ii) #&#%E 7 4y Rand C {4 and waveform of]

v 4 waveform of v, (1) for0=t=2 % - (15%)
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8. f£[8 8 F 44 current mirror circuit (F 7 48) * £ F Vpp=Vss=5V » two transistors Q1 and Q2 % 48 5] &
channel length and width with (4 Cox)(W / L)=lmA/V2 and V=1V - & Q2 operates in the saturation

region > K R {81#4F [;=0.5mA - (10%)
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9. —fA N &8 MOSFET E%ufE 9 EE S8 4%

V.=0.6V,k =uC,_=200ud/V? L=08um W =4um, ,E[D:—;—k'%(VGS—V)Z » Z& 1, =80uA >
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